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Note : Answer all questions. All questions carry equal
marks.
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What are essentials of a wvalid contract ?
Explain with illustrations.
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What do you understand by competency to
contract ? Describe the law relating to minor’s
contracts on India.
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Impossibility of performance.is as a rule not
an excuse for non-performarce of contracts.”
Discuss.
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What is. meant by breach of contract ? What

are the remedies against breach of contract ?
Describe.
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What do you understand by the term
‘delivery’ ? Describe the rights and duties of
the buyer and the seller in connection to the
performance of a contract of sale.
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What is contract of sale ? Describe the
characteristics of a contract of sale.
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What is ‘Negotiable Instrument’ ? Explain its
characteristics and statutory presumptions.
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What is Presentment ? When presentment is
unnecessary in case of Negotiable Instrument ?
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5. Teh ST A ¢ ? SuEr Geaor afufrey
% idid Uk FT YRR ¥ ?

Who is a Consumer ? What are his rights
under Consumer Protection Act ?
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What do you understand /by, Consumer
Protection ? Describe its main provisions.
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